
Случаи 
вычитания 15-□
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Найди число, которое на 5 меньше, чем

13  14  12  11  10  

7  8  9 6 5 



Найди число, которое на 5 больше, чем

6  9  7  8  10  

12  11  14  13 15  





148 9 10 1
1

12 13









КАК РАССУЖДАЛИ ПРИ ВЫЧИТАНИИ?

15 – 7 =        15 – 7 =

                           85 2 7

8 8





ЗАПОМНИ!

15 – 6 = 9 
15 – 7 = 8

15 – 8 = 7 
15 – 9 = 6







Яблок - ? кг 8 кг и 8 кг

Груш - 10 кг
- на ? >



САМОСТОЯТЕЛЬНАЯ РАБОТА

15 – 6 =            14 – 7 =
15 – 8 =            13 – 6 =


